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Where he said to him, ‘take off a fig from my fig tree’

Overview

The X3 initially wanted to explain the Xn>72, which states that 7105 naw2a 73m1 213, is
in a case where the buyer (of the stolen animal) said to thief, ‘chop off a fig from my
tree as payment for the animal’. Therefore since the thief is 710> 2> for naw M7 n, he
1s exempt from paying '™ 7. The X713 does not accept this explanation, for if the buyer
would demand that the thief either deliver the cow to him (since he acquired it with the
fig), or return the figs to him, the 7"°2 would not require the thief to do so, since the thief
is liable for the death penalty (it is 71 72772 77°2 Op), so it turns out that there is no sale,
however the X072 maintains that he is 7199 in a case of 7211 213. However according to
this explanation there is no 777°2%. Our M20IN clarifies the s'XM3 question.

nvoIN asks:
= ANPY NPV NPIY DY 19581 N2 NPT IN 9197 9550 9NN ON)

And if you will say; but how is this case; if the stolen animal is standing in the

courtyard (domain) of the buyer at the time of the fig plucking -
- 199913 91 RY 393 17599 Y919 1YY YANP INT 1) NYY 7599 NN

Why does the X713 challenge this answer, saying that since if the buyer would
demand, the animal (7"°2 would not force the thief to deliver it), etc. so therefore

the sale is not an effective sale, but why not -
= DY YNN 119 193 0PN YN Hwara A»NNT 2N

Granted that the thief is liable with his life, nevertheless the 221 of the npw»

acquired the animal -
- 2891 11959 INY NN NIV 299N Y1 NPV YV 198N NPT NIN)

And if you would rather say that the animal was not in the domain of the buyer
(and therefore there is no sale) that is also not acceptable, for remove from here the

death liability for desecrating the naw, it would still not be a valid sale,
=190 7Y NI 571999 9INRT 1IN 295 1D NP NNT

!'We cannot obligate one who is 0" 21 to make any payment that he owes someone, so if the animal was mw-a
21371, we cannot obligate him to deliver it to the 17, since n"2%p (and the same with returning the figs). However in
this case the animal is already in the possession of the buyer, and he rightfully owns it, for there was payment and a
proper "1 to which the thief agreed to; we are not demanding anything from the thief. The sale is and remains valid!
2 The thief would be 7195 even if it was not on nNaw; since there was no 1ip, the sale is not valid and there can be no
'm "7 mown.
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For we have established the ruling according to 1''s who maintains that fruit
(food) cannot be an effective way for® 1% 171p —

Mmoo offers a possible resolution to his question:
= 59710 1937 H9IN2 19N PPOIN YT7aY XY 29997 NNT 4WH912T NN ON 1929 ¥I99Y 111

However according the s'n''s explanation it is understood, for the n"9 explains
that this rule of 1959917 572w X% >0 is only if the M7’ are used in the manner of a
"7 I -

- NIYYa PIpY XUN 1Y 2915 XY 9101 19 PINNRY
Where he returns the 9710 to the owner, and the 7137 only gives the 7171 a 9710 for

the sake of a 3°12, but not as payment -
- 33 DT NN EMIVA MY AT HNMH AT INPNY 190 YaN

However when the 771p» intends to transfer ownership; this item for this item (a
form of barter) each of equal value, as a monetary payment then > are effective —

mMooIn answers (the original question):
= 89910 PWIN RIN P97 NI NONT PNYY 13929 901N

And the »''1 says that here he is only asking the question based on the inference

from the expression, ‘sold’ -
- 135 NYN 19991 17 PR BOYY 9T 9N RYT 1153 NPIYH 98N NP IPPaNT

For even if the animal is standing in the domain of the buyer (so it belongs to

3 See 1,3 &, 1w17p. Generally 1990707 (including animals) cannot be acquired by paying for it with money; they can
be acquired through (73°wn ,772%7 and) 1°9°%n. Presumably the 1Ip to acquire the animal with the figs was a 12°%1 1Ip,
however we rule that M7’ are not valid for 1211 7°1p. So even without the issue of naw 9151 there is no valid 77°on
and therefore no 'm '7 *ny>wn.
4 See T 77N R, A2,
5 9710 PIp (acquisition through a shawl) is the standard mode of acquisition which is referred to in the X3 as a 7%1p
(like for instance when we say 17°1 137). In this type of a 13p the one who is acquiring (the 71?) hands the 71 any
type of >3 and the 73pn takes it. This validates the transfer of ownership from the 737 to the 72%p. The 73pn returns the
7710 to the np. There is no exchange of value for the goods received (at this point); it is merely a symbolic transfer
of the 7m0 that makes the transaction effective. If it is a sale, the 7117 is obligated to pay the agreed upon price, and the
m3pn must deliver the goods.. It is only in this type of 1°9°%11 1°3p that 1" rules 19°%1 *72v 82 >0 (according to the n'"9).
® We may need to say that when he said >n&nn 780 71pv, he did not mean one fig, but rather as many figs as the
animal is worth.
" In our case there was a barter, the animal for its value in figs, in this case, 1"1 agrees (according to the n"9) that the
13p is valid. Even though we mentioned that one cannot acquire 1°2v2u with money, that is a rabbinic enactment that
applies only to money (which is the more common way of buying), however buying through barter is uncommon and
therefore the o°non did not disallow this type of 1°3p. According to the n"1 we can say that the animal was not Nw-2
nPY21 and normally he would be 7177 the animal with mwa 7w 1°9°%1, however since it was naw we cannot coerce the
thief to deliver the animal (or the figs) on account of n"27p.
8 The Xn>>12 states 770D 95MY 233,
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him), but since the 7"°2 cannot say to the thief, go and make up to the buyer, what
he paid you for (for it is a case of n"2%p), therefore this is not considered a sale, but
rather a gift’ (so why does the xn>12 state 191 233, when it is not a sale) —

mooIN anticipates a difficulty:
- 1991355 1359572 99197 DY 1123 NINKN DY 3NNN NYWNNI NYIIN MIIVYNIAT 2) DY IN)

And even tough regarding the payment of ' '7, one is liable for a gift, just as for
a sale, as the X713 states later, so what difference does it make whether it is a sale or a gift —

MvoIN responds:
= 11799599 91 PR 23NP NIV 9919 2) DIPN Yon

Nevertheless the xn>93 stated naws 9521 213, and this is not a 577997 -

SPNPNNN NINRN NHIPY 2999 FNINRNN NPRN NIPY 1Y 79
And it is the same to us, whether he said cut off a fig from my fig tree, just as if
would have said cut off a fig from your fig tree.

Summary
A transfer is considered a sale, only if both parties are obligated to fulfill their

respective commitments.

Thinking it over

X959 27 answered that the buyer said, ‘throw the stolen animal into my domain and
my domain will acquire it for me’. Obviously he means to say that ‘I will pay you
afterwards’. Why cannot we say the same thing by 7°n1°&nn 72°Xn PPy, that this was
merely a condition as to when the sale will take place, but the buyer will obviously
have to pay him later, so why could we not establish the Xn>>72 in this type of a
case?!'3 Why is it any different from >131% M2 p1r?!

® See footnote # 12.
10 x vy,
! This is what Mmoo meant previously that the X3 is 771 (bothered) by the wording of n.
12 If the buyer would say that the transfer of the animal will take place when you cut off a fig from your fig tree, even
though he cut off the fig, it is not considered a sale, since the ‘buyer’ did not give the thief anything of value in return.
Similarly even if he said *n1°Xnn 7180 YIpY, it is also no sale, since we cannot force the seller to deliver the goods in
exchange for the figs that he received (on account of n"2%p). When a seller cannot be coerced to deliver the
merchandise, even though the buyer acquires the merchandise, it is not considered a ‘sale’ (but rather a gift). A sale is
when both parties, after they made a 7°3p are obligated to both pay and deliver the merchandise to one another,
respectively. See ‘Thinking it over’.
13 See "1 X"wm.
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